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COMPUTER ARCHITECTURE
Fruffa . 39 (At 31 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A () WA-FHATaEAC feagdtE
Note : There are THREE sections in the paper A, B and C.
(i) QI-T F g7 GEgT 1 & G 10 9T & IR AT | TAF 97T O 3% Hl 8
v @4 10 977 TGS TFR F T 8 |

Answer all the 10 parts of the question no. 1 in Section-A. Each part carries
one mark and all 10 parts have objective type questions.

(i) QFIT-d F 8 ¥ § @ fbgT 6 I & I o | YoIb T 3 e FTE TG
$7%HT 5 TET / 50 Wl § 37 SHforw |

Answer any 6 questions out of the 8 questions in Section-B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QFwA-dF 6 v 7 @ fET 4 ¥F F I HrT | II% 57 8 & FHTBTT
g7FT 15 8T / 150 W&l 5 37 dfore |

Answer any 4 questions out of the 6 questions in Section-C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) NI G & G ¥o) &) FHEAR GF Grel §T T |
Solve all the questions of a section consecutively together.
(vi) @l yrs 4 3R 8 1 et 4 s s @ A |
Only English version is valid in case of difference in both the languages.
qRH -

Section — A

L () e 2e1 W & for gEmTe fepan S aren 8 -fae wehrdin yrEy
21

(a) ASCII (b) EBCDIC

(¢) ANSI (d) USCI

The 8-bit encoding format used to store data in a computer is
(a) ASCII (b) EBCDIC

(c) ANSI (d)y USCH

(1 0f4) Pr.1.0.
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(i) wEhm wre, wEl s HiY wigig & a ffdg wa & -

(a) Immediate (b) Direct
(¢) Definite (d) Relative
The addressing mode, where you directly specify the operand value is —
(a) Immediate (b) Direct
(¢) Definite (d) Relative
(i) S-U3E FgavH Ay % Wwe § S i - dwnfenam@?
(a) Registers (b)  Accumulators
(c) Push down stack (d) Cache
In the case of zero-address instruction method the operands are stored in
(a) Registers (b) Accumulators
(c) Push down stack (d) Cache
(iv) @ &H 7 3 -5 T HerE & & a1 2 % T &9 4 I FAT? |
(a) 11110 (by 1110
(¢) 1010 (d) 0010
When we perform subtraction on —7 and -5 the answers in 2°s complement form is
(a) 11110 (b) 1110
(c) 1010 (d) 0010
(v) uRu-emEfm e gl feema R
(a) RISC (b) CISC
(c) ISA (d) IANA
Pipe-lining is a unique feature of ;
(a) RISC (b) CISC
(c) ISA (d) IANA
(vi) MOV 31 ADD & f¥dsii =1 FE A2 |
(a) OP code (b) Operand
(¢) Commands (d) 3 HIE T
The instructions like MOV or ADD are called as
(a) OP code (b) Operand
(¢) Commands (d) None of the mentioned

(vii) Freaor gerd Ie9=] HTH 3 THEAl bl FEfa w2 |

(a) Control signals (b) Timing signals
(¢) Transfer signals (d) Command signals
The control unit controls other units by generating

(a) Control signals. (b) Timing signals

(¢) Transfer signals (d) Command signals
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" (viiiy e ferem i, vt 32 e a1 8, e i il 2 |

(a) 16bit (b) 8 bit
(c) S5hbit (d) 6 bit
In a system, which has 32 registers, the register id is long.
(a) 16 bit (b) 8bit
(¢) Shit (d) 6 bit
(ix) @Fege H uerd forweh gra faman sman 2 7
(a) 1's complement (b) 2’s complement
(¢) 9’s complement (d) 10’s complement
Subtraction in computers is carried out by —
(a) 1's complement (b) 2’s complement
(¢) 9’s complement (d) 10’s complement
(x) FYATGHAGR -
(a) Multidirectional (b) Bidirectional
(¢) Unidirectional (d) 3 & g
Computer address bus is —
(a) Multidirectional (b) Bidirectional
(¢) Unidirectional (d) None of the above
Yo — it
Section - B

T Ig I IEEW 6| GEFAT H FHHATET, |
Explain Gray code with the help of example.

T ZTEH HT3sh! - SATHIH &1 2 7 FHgsT |

What is register transfer Micro-operation ? Explain.

farge TTesht ATt 6 Hrfafy FEEmET |

Explain working of shift micro-operations.

et fiém &8 & HA 8 7 FHEET |

How computer instructions works ? Explain.

FEES A A E A FE FE FAE 7

What are sub-routines ? How does they work ?

7219

(1x10)

(3)

(3)

(3)

3)

3)
P.T.0.
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10.

1.

12.

14.

1S5,

arésht s faEr s a wrEarad faga e | s fafau |
Write the differences between microprogrammed control unit and hardwired control
unit. 3)

WF FTEd & 7 JUse |

What are stack ? Explain. 3)
fregpe emm e Frged FEd & ?
What are Reduced Instruction Set Computers ? 3)
Qe - dt
Section - C
fohaeg ufge 3t weAifén uig fras=em +i 3g@wn 6 gamar @ 993 |
Explain fixed point and floating point representation with the help of example. (8)

sifterafess @ifae foree gfte it wrifafy foa 6 gama & g |
Explain working of arithmetic logic shift unit with the help of diagram. (8)

3R 1 EId 8 7 §g< Fefein &1 Hussy |

What are interrupt ? Explain interrupt handeling. (8)
FETEeR 6 HrEfafa qagmE |

Explain working of assembler. (8)
Hera gfe 6t feamga @ wfaa avfz Hifso |

Describe design of control unit with the help of diagram. (8)
uefi uren %1 aferan avis $ifsw |

Describe addressing modes in detail. (8)




